3-Way Installation
available

Long Stroke

& Maximum: 80mm
(HPOB6-18xL)

Opening/Closing Levers
stop wherever by
fine adjustment

Opening/Closing directional
Stroke adjustable by Bolt

Applying PATENT

High Gripping Force

4 Double Piston

Straight and/or L-shaped
ZE or ES type Sensor Switches
(Sensor switch is an option)

&detecting Levers OPEN
&detecting Levers CLOSED



Parallel Linear Guide Gripper

H POG Series

New—-Era.

B Model Code No.

Series Name

Normal Size (Bore Size)
6: 6mm
8: 8mm

12 :12mm

14 :14mm

18 :18mm

[E0-B m-a-

@Lever Stroke Adjustment

Blank : Without Stroke Adjusting Bolt
JA : Opening Directional Stroke Adjusting
for Internal Gripping(Outside Gripping)
JB : Closing Directional Stroke Adjusting
for External Gripping(Inside Gripping)
JC : Closing & Opening Directional Stroke Adjusting

Binternal Structure

Number of Switch

1:1 Switch
2:2 Switches

Switch Lead Wire

Al1m
B:3m

(Option)

@Sensor Switch

Blank : without Switch

Straight type

ES13, ZE135 : Solid state type, 2 wire
ES15, ESP15, ZE155 : Solid state type, 3 wire

L-shaped type

ES23, ZE235 : Solid state type, 2 wire
ES25, ESP25, ZE255 : Solid state type, 3 wire

@Lever Stroke

Blank : only for HP06-6, HP06-8 and HP06-12
S : Short stroke
only for HP06-14 and HP06-18
L :Long stroke
only for HP06-14 and HP06-18

Example : HP06-8JA
HP06-8JB

S0 OB

TR, §

Parts List

No. Name Material
1 | Main Body Aluminium Alloy
2 | Head Cover Aluminium Alloy
3 | Head Cover Aluminium Alloy
4 | Holding Cover Aluminium Alloy
5 | Lever Carbon Steel
6 | Pinion Stainless Steel
7 | Rack Piston Stainless Steel
8 | Bearing Stainless Steel
9 | Magnet Plastic Magnet
10 | Roller Carbon Steel
11 | Roller Carbon Steel
12 | Snap Ring Carbon Steel
13 | O-ring NBR
14 | O-ring NBR
15 | Packing for Piston |NBR
16 | Adjusting Bolt Carbon Steel
17 | Fastener Seal NBR
18 | Hexagonal Nut Soft Steel

Caution:

Do not remove (6Adjusting Bolt from Main Body.

(HP06-8JA and HP06-8JB only)

90dH




o
e,
®)
o

Parallel Linear Guide Gripper

H P06 Series

B Specifications
Action Type Double Acting
Working Fluid Air
Maximum Operating Pressure ~ [MPa] 0.7
Proof Pressure [MPa] 1.05
Operating Ambient Temperature [C] 0 to 60
Lubrication Not required (need for Levers sliding portion only)
4 . 120 (HP06-6, HP06-8 and HP06-12)
Max.Operating Cycle [cycles per min.] 100 (HP0B-14 and HP0B-18)
Centering Accuracy [mm] 0.1 (+0.1 to -0.1)
Repeatability Accuracy [mm] 0.07 (+0.07 to -0.07)
it M3><0.5 (HP06-6, HP06-8)
P M5X0.8 (HP06-12, HP06-14 and HP06-18)
Available Switch type ZE, ES type (Solid state type)

: Norminal | Minimum | pMaximum |  Effective External Dimensions ]
A,f"°“ Model Size | QPerating | “syoke | Gripping Force | (ThickXWidthXLength) | VeIINt
ype ressure ‘ : [g]

[mm] [MPa] [mm] [N] [mm]
HP06-6 6X2 0.2 g |oesing | 12 15X29X45
Opening | 12
HP06-8 8X2 0.2 16 | 167 19X32X52
Opening | 16.7
HP06-12 12X2 0.15 pp [ Closing | 44 25X41X66
Opening | 44
Double 1 Closing | 58.8 Refer to
Acting | HPOB-143-s |  14X2 0.15 % e | 5 31X48X86 the next
' i page
HP06-143%-L 142 0.15 6o |Closing | 588 31X48X130
Opening | 58.8
HP06-183%-S 16X2 0.15 ap | |CSNER 1078 37X57X110
Opening | 107.8
HPOB-18%-L | 16X2 0.15 go | Josing |107.8 37X57X166
Opening | 107.8
Note: Effective Gripping Force (N) is the value at gripping point of 30 mm in length under operating pressure of 0.5MPa.
BPermissible Load and Permissible Moment
o | ladé T px [ MA | MB | MC
k 4 = Model (N) | (Nom) | (N'm) | (N-m)
LIL ¢ == & HP06-6 12 004 | 004 | 008
¥ | [+ | 2 HP06-8 40 0.3 0.3 0.5
@
EEE HPO6-12 | 120 | 1.0 1.0 2.0
‘ —" HP06-14 190 3.4 4.0 8.0
Ma HP06-18 210 4.4 54 9.0
P o ..
Fa Ma=FaxLa
o Mb = Fb x Lb
= k) KK 3 Mc =Fc x Lc
L2 <
== -




NeW _EI' aa

B Adjustable Stroke Range & Weight

90dH

” Max.Opening Width

Min.Opening Width

»lle

1
» 1 -
Adjusting Bolt <‘|/23troke%i 1/23troke>
\ ’ '
1
1

] HPo6 ;

Lever stroke range

JA type
Center line Note:

!P/ Adjusting bolts are backed off to get maximum

Stroke without stroke when shipping at factory.
adjustment

Caution:

Total stroke(S1+S2) should be kept "3mm "
at least for HP06-6JC and HP06-8JC.
Refer to (*1) in the below list.

HP06 series Max.Adjustable Stroke (mm) Weight (g)
Stroke at HP06-6 (without Adjusting Bolt) 52
max.adjustment HP06-6JA Opening direction, A=6 52
HP06-6JB Closing direction, B=6 52
HP06-6JC Both directions, A+B=9 (*1) 52
JB type HP06-8 (without Adjusting Bolt) 86
. HP06-8JA Opening direction, A=8 87
') HP06-8JB Closing direction, B=8 87
left o right HP06-8JC Both directions, A+B=13 (*1) 88
lever lever HP06-12 (without Adjusting Bolt) 200
stroke 4* % Stroke HPO06-12JA Opening direction, A=8 203
HP06-12JB Closing direction, B=8 203
HP06-12JC Both directions, A+B=16 206
HP06-14-S (without Adjusting Bolt) 390
HP06-14JA-S | Opening direction, A=15 395
JC type HP06-14JB-S | Closing direction, B=15 395
: HP06-14JC-S | Both directions, A+B=30 405
A i e vt HP06-14-L (without Adjusting Bolt) 570
% leftlever HP06-14JA-L | Opening direction, A=15 580
"‘S"c’ke HP06-14JB-L | Closing direction, B=15 580
HP06-14JC-L | Both directions, A+B=30 590
== s HP06-18-S (without Adjusting Bolt) 690
HP06-18JA-S | Opening direction, A=15 700
T 322 HP06-18JB-S | Closing direction, B=15 700
HP06-18JC-S | Both directions, A+B=30 710
HP06-18-L (without Adjusting Bolt) 1,020
HP06-18JA-L | Opening direction, A=15 1,030
HP06-18JB-L | Closing direction, B=15 1,030
HP06-18JC-L | Both directions, A+B=30 1,040




Parallel Linear Guide Gripper

HPOG Series

B Effective Gripping Force

Gripping Point of Workpiece

I
e,
@)
o

Finger(Attachment)

NOTE:

1. When gripping a workpiece, the mass of workpiece should be within the range between
5 to 10% of the above Effective Gripping Force.

2. When moving a workiece with gripping it, the mass of workpiece should be within the
range between 2 to 4% of the below Effective Gripping Force.

3. The necessary gripping force depends on the material (surface) of workpiece,
shape of fingers and moving speed and direction (horizontally or Vertically) of gripper.
Therefore, please take your operational condition into consideration.

HPOG6-6 HPOB6-8 HPOB-12
20"”"T“‘"1“"ﬁ _____ =2 =29 40‘__'\__“7"’V“’l‘_"7___| _________ T____‘V___O_%I’\;IF_’ _______
| I | | : |‘ 1‘ : : | 1 : | | 7N a L :
o :-&Mpa 1‘ : : — 1 I 1 | : I “ - 60 T I I ‘_-_I *——‘:va:
e T e e et i o SE 1Y SO SORts S A o
3 ____losMPa | | 8 . lozmpal | | | 8 0P, |
LIO_ :Xu ! ! LE T ' 1 ! L(L) 40Fs=2=g=rm==q=-==5 [ [
10%7,‘7177,774 77777 (S ___! bese il me e e B mvadlraneralt e o oo t | | : I‘
o A A R - S I Y S D g0 ~---t----{----0.3MPa |
! : —Sanba, ! N L g : : ; L
g‘ gh---- [ o ' ___1' % 10___: 1 1 7~|—9._3M_P_a_|___1‘ g" 20Q-—--- TSESmaEsE = K== S5 = :““l
O] T —x[ : : I O] : : | | | | £ O] \I \I : ! |
.‘ ,‘ : Lo A 10["”,‘""7 """ T CT
| | | | " | | | | i | : 1 1 1 : :
0 10 20 30 40 0 10 20 30 40 50 60 70 0 20 40 60 80
Gripping Point L (mm) Gripping Point L (mm) Gripping Point L (mm)
HPOB-14-S, HPOB-14-L HPOB6-18-S, HPOB-18-L
P TS TS T T O T e e - r-- Bl i e A S R
80} - - - 27MPa L N I R A
Z R R A R g 180 T OTMRA
2 S 8 ey OSMPE
D 40—t e I e A R
£ L 1 03MPa; £ R
£ A e 75‘"‘1“‘?“1"5‘3‘h,|‘;a““l"“1
B DD s s smlleos s Slhes g e 2l = o] 4= i | - | !
© A L L SEEEEm e o b
0 15 30 45 60 75 100 0 20 40 60 80 100 120
Gripping Point L (mm) Gripping Point L (mm)




New-Era.

B Available Range of Gripping Point

€
E
T
(2]
c
[
=
5]
>
(@]
Gripping Point L (mm)
HPOB6-14-S
€
E
T
(@)}
c
(]
£
()
>
(@)
0 70 80 100
Gripping Point L (mm)
HPOB-14-L
[T
€ = = i
£ : L
S5 | | | I
o o=
= 1 1
© . i
E 1
() |
> 1
o |

Gripping Point L (mm)

Minstallation Examples

1. Using Thread Holes at bottom

| ) !
= R
E o= =)= =
E fop
= Lo
o)) =l ol =
=4 |
«© 1 !
£ o
(] : |
> et ]
O 1
0 10 20 30 40 50 60 70
Gripping Point L (mm)
HPO6-18-S
_*7777777777’\'"'7‘>_\___';
T S A A
E BN
E ! 1 1 1 | !
o | ol e b o
= 1 ' i !
© ! 1 X |
'E ' I !
Cl>) 1 1 i
T ===
O 1 1 :
i : !
| | |‘
0 100 110 120
Gripping Point L (mm)
HPO6-18-L
Tif‘l‘"_':
= O
E o1
=T | ' "
o
c | ) |
© ' H i
E ' t !
g) 17771‘__*‘
o] A
! l !
| | b

0 110
Gripping Point L (mm)

120 130

2. Using Thread Holes at side (both sides)

HPOB-12

Overhang H (mm)

Gripping Point L. (mm)

3. Using Thread Holes at shoulders.

3 3

77114;"1 I

Adjusting Bolt ; ¥

i

P 157
i -l\..\l- E :
S

eV
NS

4. Using Through Holes on body

Positioning Pin 1z A
Grigper typs . Thread Holes for_installation
At Bottom side At Both sides At Shoulders
HP06-6 2XM2.5 Depth 4 | 2X2 M2.5 Depth3.5 | 4XM2.5 Depth 4
HP06-8 2XM3 Depth 5 4XM83 Depth 3 4XM3 Depth 5
HP06-12 2XM4 Depth 8 6XM3 Depth 5 4XM4 Depth 6
HP06-14 2XM5 Depth 8 6XM4 Depth 6 4XM4 Depth 6
HP06-18 2XM5 Depth 8 6XM5 Depth 7 4XM4 Depth 8

(Custom-made only)

F % f{’)%v
[I T\ I

Note: L-shapped switches only can
be used.

90dH

(78)




HP06 Series

B Stroke & Positioning Adjustment

_:IU: Opening Directional Stroke Adjustment for Workpiece-External Gripping
o
o i
P Availavie HP06- * JA
= stroke range
|
Fig.1
(No adjusted) Adjusting Bolt
<::> <:> Lever Lever
— h .
Base - B Genter Ling & Different Size Gripping is available.
e ATEEE. (Refer to Fig.2 and then Fig.1)
— After gripping the larger workpiece (fig.2), the next smaller

workpiece (Fig.1) also can be gripped firmly by the both levers
without adjusing Adjuting Bolt.

@ © © |Fig2

(Before adjusting)

@ Fine Adjusting for Positioning is available.

(Refer to Fig.2 and then Fig.3)

The opening width can be narrowed "E" by tightening Adjusting
=4k Bolt "E" to avoid a collision surroundings with levers or work
1 with efficiency.

@E E © © |[Figs _ Adjusting Bolt Stroke
O (After adjusted) Back off increase
t Tighten decrease
< Pyt

Closing Directional Stroke Adjustment for Workpiece-Internal Gripping

¥~ Center Line

© Fig.5

(Before adjusting)

<I:>
=
=

Base Line
| ]
o
© & * © Fig.6
5 . (After adjusted)
|
N

<D ® ©
Available HP06- * JB pan o s
: 3 stroke range © _©
o O o
ﬁ ©
© © © Fig.4 Adjusting Bolt
(No adjusted) Lever Lever

@ Different Size Gripping is available.
(Refer to Fig.5 and then Fig.4)
After gripping the largrer workpiece (Fig.5), the next smaller
workpiece (Fig4) also can be gripped firmly by the both levers
without adjusting Adjusting Bolt.

@ Fine Adjusting for Positioning is available.
(Refer to Fig.5 and then Fig.6)
The stroke range can be narrowed "G" by tightening Adjusting
Bolt "G" to avoid a head-on collision beteween the mounted
fingers or work with efficiency.

Adjusting Bolt Stroke
Back off increase
Tighten decrease




New—-Era.

BDimensions of Groove for Sensor Switch

Unit : mm \J/ I'm—l Groove for Sensor Switch %
HPOGsanes | 6 | = | 12 | 44 | 18 . / &
A 24 27 36 43 52 /I\ o ( ) @ CF (0)]
B 6.5 8 11 18 24.5
A ;

BProtruding Length of Switch

Refer to protruding length of switch body from I L b _
HPO06 body at the levers closed or opened fully. WP J:=—
Unit : mm
HPO06 series -6 -8 -12 -14 -18
Max.productin ZE/ES type PEEN
Le'r)lgth o b y 0 0 0 & 0 Sensor Switch -
BSwitch Installation B Response Differential (Hysteresis)

Switch set serew Response Diffrential shows Unit : mm
ﬁéi;ﬂigﬁgjﬁ’) the stroke from the location HPO6 series All

ZE/ES Sensor switch where the lever moves and Max. Response Differentia 0.3

turns the switch ON to where Operating Position Accuracy | 0.2

the switch turns OFF in the

opposite direction. Hysteresis
Switch ON Switch OF

Insert switch into mounting groove. [_T ,__I

Locate in detecting position and
then tighten set screw with miniature C=——
screwdriver up to 0.1N+m.

Mounting groove

_—Most sensitve

BFinding Most Sensitive Detecting Position (shows ,E )  detecting position

Example: JC type
ZE/ES sensor switches

Opening position detector

Opening-end

adjusting bolt \‘

cable 2.6 ¢

. / F\ Most sensitive
Closing-end Sol Closing position detector detecting position

adjusting bolt

(DMake sure .that the levers stay HPOB series | Sop Sol i
at the position where required. et
@lnsert th nsor switches int ot 1€ i
sert the sensor switches into Ctes = 5 B
the grooves until LED turns ON, HP06-12 17 28
and then insert another 0.5mm -
(3Fix the sensor switches there o el L e
with set screws. HP06-14:%L 13 43 Most sensitive
HPO06-18%S 14 34 detecting position
HP06-18%L 14 54

Note: "Sop" and "Scl" are reference only when the levers are fully retracted with Adjusting bolts backed off completely.




90dH

Parallel Linear Guide Gripper

H POG Series

i i Unit : mm
BDimensions
Weight When open: 12
HP06-6 529 2—g27 Whenclosed:0 156 4—M2.5X0.45 Depth 4
2X2—M2X0.4 Through 78
Depth1.5 @ T
Opening position detector |:> ¢_ )
E » ) . Note:
11 ® | & -l o « if Please choice air ports from both sides
- T according to mounting position.
g le Il ¢
= E
Closing position detector R\ i
o {O <
! \2—¢2"4* Depth 2
(25) 30i0.|
1
45
1
22%0 2X2—M2.5X0.45
Depth 3.5 (Both sides)
$ 0 ¥, o
7E., = e — o] 7 2
' 2—M3X0.5 2—M3X0.5
Air port (Opening) Air port (Closing)
37%01 (Both sides) (Both sides)
|
2—M2.5X0.45 Depth 3 % O
=k
o sG=0= |,
¢ ;,[L 5| % I
«‘g\‘: §' Fingers installation screws (4pcs)
(? are supplied with HP06-6, HP06-6JA,
+0.03
$275" Depth 1.5 14 HP06-6JB, HP06-6JC only.
M2X0.4 .
Weight —
Unit : mm = e ? =
HP06-6JA 529 K
|
When open: 12 L#)H(ﬁ
ox2—Moxoa  _2—goy ‘Wenclosedi0 56 4—M2.5X0.45 Depth 4
Depth1.5 Through 78
Width across KE] T
Opening position detector I:> flats 5.5 _¢_ )
M3X0.5 i » ) j: | §
H- - ©&——|F —— \.\~— — ] = ir
— ~ [
g L& It ©
Closing position detector E> B <
T 2—¢2+9% Depth 2
(2.5) 30*"
I
(5) 45
22*01 2X2—M2.5X0.45 29 — =
Depth 3.5 (Both sides) |
il - h— o 5T @
7

2—M2.5X0.45 Depth 3

o

$2"5% Depth 1.5

[t} w
= . ’—'JI # . ® ': '\. N v_g =
. \.J ; = < p
; 2-M3X0.5 ‘ M3X0.5
Air port (Opening) Air port (Closing)
37401 (Both sides)
|
e
i 0
AAga-
g
—O— R
T
14




Neuw—Era.

i i Unit : mm
BMDimensions
Weight When open: 12 I
HP06-6JB 52 @5 |, When closed: 0 45 ¢ 4—M2.5X0.45 Depth 4 5
2X2—M2X0.4 F ‘ 7.8 8
Depthi.5 N
Opening position detector I:> 4} @ |
4oare =+ )
s - & - —H o b+
M3X0.5 2—— (—'—— E\ o M %
Closi ition detect Width J
0SING position getecior E> ﬂal,‘s 5207055 ¢_ @ \}

0 2—¢2+90 Depth 2
30 0.1

2—¢2.7
} ) 45 Through

pptot 2X2—M2.5X0.45 -
Depth 3.5 (Both sides) |
H—_w I n |

BT e

wn
® 7 o -
e | o O SO-© -
I M3X0.5 [ 2—M3X0.5
Air port (Opening) Air port (Closing)
g7+01 (Both sides)
1

2—M2.5X0.45 Depth 3
d 13
2

$2"4% Depth 1.5

2+%03
Depth 1.5

Weight Unit : mm
HP06-6JC 529 '

When open: 12

2X2—M2X0.4 p—go7 Whencosed:0 56 | 4—M25X045Depth4

Depth1.5 Through 78 A

Width across

Opening position detector |:‘J> flats 5.5
M3X0.5 1

&
. 4
(Adjusting screrw) ;'"‘ 4} It
-
o 0

o
¥ B

D401

Closing position detector |:>

M3X0.5
(Adjusting screrw)

2—¢2+901 Depth 2
30 0.1

45

£
N
| S — .

22+ 2X2—M2.5X0.45
Depth 3.5 (Both sides)

il | | Ih =
EE .

] n =
£ S - | = ™ - o
T |
M3x05 / ' M3X0.5
Air port (Opening) Air port (Closing)
3710.
1 ]
2—M2.5X0.45 Depth 3 O
o 2o
. o .
o ‘ ' S 1
s=|
)
_(%)_ a
$2"9% Depth 1.5 i .




Parallel Linear Guide Gripper

H P06 Series

90dH

BDimensions
Weight

HP06-8 869

4—M2.5X0.45 Depth 3
(For finger mounting)

22 Note:
32 Please choice air ports from both sides
according to mounting position.
2.
: © €
iy
- ® e . o |
h M| O N
w - N ™
m 1 - H
‘E[ L9 | [

4—M3X0.5 Depth 5 When open 17 2X2—M2.5X0.45 Depth 3
N hen closed 1 :Dﬁtum plane for finger installation)
4—M3X0.5 Depth 5 This side only) 17
(Both sides) i y
AN S IE SO i
@ -
FITL% - 2 .
DD | M)
N ZAA VAW e ZAA\ 20K
\ 24 0
27 ¢ S| 2-Maxos / 12 2—-M3X0.5
S Air port (Opening) Air port (Closing)
#84% Depth 1 S| (Both sides) (Both sides)
2.54% Depth 2.5 X 4
% o
S0 <, O—di
3 24
2—M3X0.5 Depth 5
Weight
HP06-8JA 879
4—M2.5X0.45 Depth 3 22
(For finger mounting), (g) 32
24 © ©
Gl ® [Le &—
5.5 (Width across flats) 1 @ ol g o
4 © G
25 o =

4—M3X0.5 Depth 5

4—M3X0.5 Depth 5

(Both sides) \

When open 17 £
hen closed 129

2X2—M2.5X0.45 Depth 3
(Datum plane for finger installation)

(This side only)

[
©

5

=i}
&y

R\ /N8

ST

¥
v"\
27 5

$2.578% Depth 2.5

$818% De:th 1
@) !

(0] (o]
NS 4
2—M3X0.5 12 \_M3X0.5
Air port (Opening Air port (Closing)
(Both sides)

2.5'8% Depth 2.5

ﬂ%_

2—M3X0.5 Depth 5

Y
\IJ

W b
/Hl 24

40




New—-Fra.

.DimenSionS Unit : mm
Weight

o

HP06-8JB 859 T
4—M2.5X0.45 Depth 3 52 (9))

(For finger mounting) F#’l
25 |\ & ©
mﬁ-:
&
5.5 (Width across flats; M —J $ N ol ol o
| Q| M)
e, o Tl e
2.4
G2 9—
4—M3X0.5 Depth § L—"
When open 17442 -
4 2X2—M2.5X0.45Depth 3
17 FET— hen closed 1%33 151302 (Datum plane for finger installation)
= [ a— This sid! |
(Both sides) \ L ( i Is side only)
| & o
A e h3zd
- TNE i ﬂ!!""!ﬂ
N\ 1, ] NS
! 2 )
27 k@@ . M3X0.5 . | \ 2—M3x05
Air port (Opening) Air port (Closing)

(Both sides)

2.5+3% Depth 2.5

2.5'8% Depth 2.5 818 Depth 1 2

SO A,
‘@' 24

40

N

2—M3X0.5 Depth 5

Weight

HP06-8JC ¢7g Unit : mm

4—M2.5X0.45 Depth 3 50
(For finger mounting)
Width across flats [-#-1
M3X0.5 Q— -$
Adjusting screw
(Opening) il @ JLe &
M3X0.5 ol oy
Adjusting screw 1 e i s : H
(Closing) | -é | @ || & i
2.4
i S L4 =
4—M3X0.5 Depth 5 =
mgg g&i‘éﬂjﬁé 2X2—M2.5X0.45 Depth 3
4—M3X0.5 Depth 5 S 162 (Datum plane for finger installation)
:5 Dept 1947}/ (This side only)
(Both sides) e U i
5 [ &t A=A
TJe = @ﬁ i ﬂ;mllm
L 2 .1=(—1— ) @ :H:@;}\
I, Y
o7 s 24 J
12
Air port (Opening) Air port (Closing)

2.5%§% Depth 2.5

$2.518% Depth 2.5
P

2—M3X0.5 Depth 5

$814% Deith 1 g’H"
¢

|
40




90dH

Parallel Linear Guide Gripper

HPOG Series

BMDimensions nit:
i 3 66
Welght Note:
H P06-1 2 200g 30 4—M4X0.7 Please choice air ports from both sides
o L= Darth & . . .
2—Plug Depth 6 according to mounting position.
| |
SR i = [
BN L) w| vl ~
O 28 %
I B &
S 1
BAEA 4—M3X0.5 Depth 3
MAX 70.5 (For finger mounting)
e
When open 23433 2X2—M3X0.5 Depth 3
When closed 1493 208 (Datum plane for finger installation)
6—M3X0.5 Depth 5 : (This side only) "
(Both sides) 12 e
W =
c o R L3 ©— 0 4 C &
¥a WG . N7 o €
F N I "6
& -
36 40 ® 2oMSKO8, LLJ 2—M5X0.8
= Aér pr?rt.((jOpemng) Air port (Closing)
§' {0t sidas) {Both sides)
$3"8% Depth 3 3
\{ [ R1.5 £°
™
oy /f‘% o e
4 A4
$818%Depth 1
2—M4X0.7 30
Depth 8 50
Weight
Unit : mm
HP06-12JA 2039
(14.5) 66
4 30 4—M4x0.7
~ Depth 6
8 (Width across flats - i
el |
(3 © @
©9© of 8l 5
M5X0.8 Ad = o =
N e < QW
Plu | & P
3 1.4 | 4—M3X0.5 Depth 3
(For finger mounting)
MAX 70.5
When open 23445 2X2—M3X0.5 Depth 3
hen closed 1793 208 (Datum plane for finger installation)
6—M3X0.5 Depth 5 - (This side only) .
(Both sides) 12
=
il ﬁ_
® ¥ _L_[FT¥ .
o Y o d c
L@ = : NG ol @
r &, | '\@
s
36 40 2—M5X0.8 17 M5X0.8
- Air port (Opening) . - -
P (Both sides) Air port (Closing)
al
a
#378% Depth 3 9
R1.5 Sol
@' i)
_> %# Wany f’% o } —m
"4 A4
ﬁ_ / M\ 2

2—M4X0.7
Depth 8

30

50

8"3%Depth 1




Ne - "EI’ a@

EDimensions Jnitmm
Weight
HP06-12JB 203 g % —
30 4—M4X0.7
Plug Depth 6
M5X0.8 N e g
El ] s
r@
8 (Width across flats) _—T Q_ Q .
4 11.4
e—= 4—M3X0.5 Depth 3
(14.5) (For finger mounting)
MAX 70.5
When open 23+{$ 2X2—M3X0.5 Depth 3
When closed 1425 55 g (Datum plane for finger installation)
6—M3X0.5 Depth 5 (This side only) 56
(Both sides) 12
|
‘E,IIE | | =
'- RS F3 = o Cc 9
cof
*\) ' 3 B!
40 M5X08 17 \ 2—M5%0.8
2 Air port (Opening) Air port (Closing)
§ (Both sides)
a
37§% Depth 3 g
%’@“ R15 %
$8'8% Depth 1
2—-M4X0.7 0
Depth 8 50
Weight
Unit : mm
HP06-12JC 2069
66
30 4—M4X0.7
r Depth 6
M5X0.8 _¢4‘
Adjusting screw _Q
(Opening) 1T & ©—
M5X0.8 @'65'@ | W ~
Adjusting screw — L '_l o
(Closing) [ ..
8 (Width across flats // ¢_ _é'
k- 11.4
<3 4—M3X0.5 Depth 3
(14.5) (For finger mounting)
MAX 70.5
When open 231} 2X2—M3X0.5 Depth 3
When closed 1 *1 8 oog (Datum plane for finger installation)
6—~M3X0.5 Depth 5 (This side only) 50
(Both sides) 12
oL [T %T
| Il L
% & > Q c w0
—l o N
I~
M5X0.8 ¥
40 Air port (Opening) L1_7_,‘ M5X0.8
® Air port (Closing)
=
B
a
33% Depth 3 a
‘Lﬁ s R15 ES
v § Lo}
| - @\ f
$878%Depth 1
2—M4X0.7 30
Depth 8 50

90dH




Parallel Linear Guide Gripper

HPOG Series

BDimensions Unit :
Weight

HP06-14-S 390

4—M4X0.7 Depth 6 - -

90dH
it
&

&

Note:
Please choice air ports from both sides
according to mounting position.

20
40
48

31*_ %l o (¢
) % 4
8—M3X0.5 Depth 3
(For finger mounting) M

=

When open 32%(3
When closed 2£93 28 6—M4X0.7 Depth 6

27-8, (For finger mounting)
| o
Al L} i M

T
c 0 % & & ~ 0
W 7an) ol 8l g 17
S e S\
60
21
2—M5X0.8
Air port (Opening) __2—M5X0.8
= (Both sides) Ar port (Clsing)
6 10™4% Depth 1 3 g R1S (Both sides)
J;__Hy e v
o r\ oy
U Q \
4 Y
$38" Depth 3 & 2—M5X0.8 Depth 8
50

Weight

HP06-14JA-S 39 Unit

Adjusting 0 (14.6) 8—M3X0.5 Depth 3
Adjusting 15 (7.1) y (For finger mounting)

4—M4X0.7 Depth 6

20
40
48

10 (Width across flats
(M6) <¢- ‘$

When open 32 #§;
When cIFc))sed 2293':5 6—M4X0.7 Depth 6

27-84 ’ (For finger mounting)

D +l _n |—l—l @ @
%‘\o é o é o p ’
= [re)
7 7)) e o & @l 7 TERLAD)
e 8 : Y
60
21
A2—M5i60-8 M5X0.8
ir port (Opening) i i
2 (Both sideg Air port (Closing)
108 Depth 1 gla
q J;_Hr & s
N TN N
r i
8 a
#373% Depth 3 35 2—M5X0.8 Depth 8
50




New—-Era.

B . Unit : mm
MDimensions
Weight 8—M3X0.5 Depth 3 -
H P06_1 4J B_S 3959 15 (For finger mounting) T
e $1/ &
/ o
J/ e 5 -9
4—M4X0.7 Depth 6 &l ole
o | <
¥ EES
(M6)
|
Adjusting 0(14.6) 86
Adjusting 15 (7.1)
When open 3243 .
o724 When closed 2*;\‘:“:2; 28 E—M4X0.7 Depth &
D @ — | | I ] S @
c —¢- -$— ol B (o] (o]
(P ALAE =8 o] g N
S ; N
60
2 M5X0.8
- = 2—M5X0.8
© Air port (Opening) Air port (Closing)
$1018%Depth 1 g|& dis (Both sides)
cfjrovomy | B}
a \ a
b L2008 o
q 3
#3'* Depth 3 / 3 2—M5X0.8 Depth 8
50
Woeight Unit : mm
HP06-14JC-S 4050
4—M4X0.7 Depth 6 8—M3X0.5 Depth 3
10 (Width across flats — (Pordingarmacrting)
s .
74
- - -0
M6X1
Adjusting screw SR

n

(Opening) ‘é‘ _¢_ _¢_
M6X1

Adjusting screw ¢' 'é

(Closing) 40

Adjusting 0 (14.6) 86
Adjusting 15(7.1)

When open 32+55 6—M4X0.7 Depth 6
When closed 293 28 L !
(Datum plane for finger installation)

r——”’g‘ (This side only)
] bl I

@ @ I I
o -0 &

2) o g 8 °
] al s
\&%) ) © a
O [P - : R
60
21
M5X0.8 M5X0.8
= Air port (Opening) Air port (Closing)
@ 10'8*Depth 1 2|8 Ris
Tl [}
& 7\3 =
@- / 3
#3"8% Depth 3 = 35 2—M5X0.8 Depth 8




Parallel Linear Guide Gripper

H POG Series

BDimensions

Unit : mm
T Weight
| & HP06-14-L 5700
(@) 15 Note:
(0)) Please choice air ports from both sides
j _$ _4} ¢ according to mounting position.
_p_/a asais. @{
8—M4X0.7 Depth 6 { ) S
5 E 3T = - ERE
L—“O_J
_8—M3X0.5 Depth 3
100 (For finger mounting)
3 130
When open 62 443
When closed 2%9¢ 35 P MEX0.8
27-8, Air port (Opening) (Both sides)
@ | -
E: o % k3 X o5 o
7D A — vl 9 N
S RYC g = Q=
80 \
6—M4X0.7 Depth 6 o1 2—M5X0.8
Air port (Closing)
(Both sides)
2 ]
q 10%* Depth 1 |gys  L|E
S =)
o & ¢
q / o
40 2—M5X0.8 Depth 8
40,03
#3"8% Depth 3 L 80
Weight
Unit : mm
HP06-14JA-L 5809
8—M3X0.5 Depth 3
10 (Width across flats) 15 {For finger mounting)

o % EIY S

LD

8—M4X0.7 Depth 6

L&]

%

&
S CE 9
N T

100
Adjusting 0(14.6) 130
Adjusting15(7.1) | When open 6245
When closed 29 3
- e 3 5 o 2—M5X0.8
-—“-l ir port (Opening) (Both sides)
@, D] | 25
C o
>  BRSS SR saapAil c
3 o V& Q?
T ~ ?k f FFU‘
: T
80 _ L)
21 - 6—M40.7 Depth 6 HEkas

Air port (Closing)

faa)
N bo
v o
ob
4
g
=
L
o
gtg=
A Depth 3

A7 Q
& / R
40 2—M5X0.8 Depth 8
$38% Depth 3 L P
i




New-Era.

.DimenSionS Unit : mm
Weight

HP06-14JB-L 550 § T
@)
B3 A e © (0)
o | 6 & © | 0
g-MaxorDepthe [ d 1 I & b2l gl 2
Har oo © 9 [ &
© ©

10 (Width across flats)

6) L Lo | 8—M30.5 Depth 3
=

(For finger mounting)

Adjusting 0(14.6) 130
Adjusting 15 (7.1) When open 6245

When closed 2193 35
27.8,
|
= s e =yl
D : e ——F A D)
=l L =411 e
21 80 6—M4X0.7 Depth 6 \ 2—Exod

Air port (Closing)

M5X0.8
Air port (Opening)

31

)
7,

(Both sides}
(]
@' 1078 Depth1  |R1.5 % ?}
by \ ]
IS ™ Y - Pas
© & i

m
4e
i

2—M52X0.8 Depth 8

#3789 Depth 3 80

Weight

HP06-14JC-L 5949 Unit : mm

8—M4X0.7 Depth 6 15
- ES - -4
MBX 1 € @ D——R| 9| 2
Adjusting screw -
(Opening) = % ¢ 5 % | &
M6X1 & o & -
Adjusting screw (Closing)
10 (Width across flats, L—‘iﬂ__,l 8—M3X%0.5 Depth 3
100 . (For finger mounting)
Adjusting 0(14.6) 130
Adjusting 15 (7.1) When open 62 +4
When closed 293 35
074, M5X0.8
=0 Air port (Opening)
10 | TR | .

31

S A

T )
. 2 SN\
o 80 6—M4X0.7 Depth 6 \ M5><+0,s

Air port (Closing)
@_ #10%8* Depth1 | R1.5
o

3!‘ 03
A Depth 3

)
= o

40 2—M5X0.8 Depth 8
$3"4% Depth 3 80




Parallel Linear Guide Gripper

HPOG Series

H H Unit : mm
BDimensions
Weight
. 0
T HP06-18-S 570g . -
O Pleaée choice air ports from both sides
o 'é 'é according to mounting position.
[__ —lé- © ST i~
S EIE 3 s I S
4—M5X0.8 Depth 8 /’é ‘é

3| 110 8—M3X0.5 Depth 3
(For finger mounting)
When open 4243

27-8: When closed 2493 33 2—M5X0.8

o =Ll e A
g BN f} © o RE
)|
7N 27 Lioa
N5 e
o 2-M5X0.8 25
6—M50.8 Depth 7, Air port (Opening)
(Both sides)

3+B 03
Depth 3
2
o

(]  $10'8*Depth 1 ] ;
& N N
"/’ N\

$318% Depth 3 40

60

©
f

2—M5X0.8 Depth 10

Weight

HP06-18JA-S 700g Unit : mm

115
< &
. i
£.
S © %
O Wl
| 1
— : Ldl =
= R S
4—M5X0.8 Depth 8 /’é ‘d}
60
Adjusting 0(14.1) 110 8—M3X0.5 Depth 3
;- Y T . >
Adjusting 15 (6.6) When open 42415 (For finger mounting)
278 When closed 2793 33 —
(Air port (Closing)
oy 3@ =i ==l %‘:—_—E
o et /;- % % 1 e
n
(?L.;fr M fare e slgla” ﬁg\\__/f@’
Zii Rt 2N i e
25 80 - 2—M5X0.8
6—M5X0.8 Depth 7 Air port (Opening)
(Both sides)
@
o€
E $1078%Depth 1 = §- R1.5
Y \ D
¢ o
ﬂ— S \
2—M5X0.8 Depth 10
$378% Depth 3 40
60




New—-Era.

. i Unit : mm
BDimensions
Weight I
HP06-18JB-S 700g T
L35, @)
: 5 o
4—M5X0.8 Depth 8 _ (¢ =
e @ T3
% 3 - Lo 1%
ey %
Adjusting 0(14.1)| ‘(—1?3—4 %)

Adjusting 15 (6.6) When open 42443
27-4 When closed 2*¢3 33

2—M5X0.8
Air port (Closing)
(Both sides)

==

CaaC W e
ﬁ?uﬁ} =
ZIAZS s

Py
A "4
oy
V=

24

28
315
37

el
e

Yz
V¥

5 80 M5%0.8
6—M5<0.8 Depth 7. Air port (Opening)
EEﬂ #10%9° Depth 1
oD
A "4 \
d JARN
\_2—M5X0.8 Depth 10
$318% Depth 3 40
60
Weight

HP06-18JC-S 710g Unit : mm

15
13 (Width across flats) _é _é
L3 ’
'i' s © ST
M8X1.25 R 95
Adjusting screw T
(Opening) L L R, [ T L LS
M8X1.25 'é ¢\
Adjusting screw (Closing) 50
Adjusting 0 (14.1) 710 8—M3X0.5 Depth 3
Adjusting 15(6.6) ' (For finger mounting)
When open 4243 4—M5X0.8 Depth 8
278 When closed 2793 33
M5X0.8
Air port (Closing)
| | @,
/ : © : 1 [o ull
v o
NS ‘Pé'}

80 M5X0.8
Air port (Opening)
L]
¥ =4
$10%3% Depth 1 % §- R1.5
o \ N
/ &
Sl
2—M5X0.8 Depth 10

$3783% Depth 3 40
60




Parallel Linear Guide Gripper

HPOG Series

i i Unit : mm
BMDimensions
T Weight
T HP06-18-L 1.020g &-Mmsxospepins 15 8—M3X0.5 Depth 3
(@] (For finger mounting) Note:
O'J % _¢ _¢ 7 Please choice air ports from both sides
; £s according to mounting position.
EEs > % &
o & & 295
g * P S I
% [ %
40
100
k! 166
When open82+{2
When closed 2493 43
2738 6—M5X0.8 Depth 7
- 2—M5X0.8
| Air port (Closing)
ﬁ%ﬂ & é . (Both sides)
~
G i REN
& EE
120 2—M5X0.8
Air port (Opening)
(Both sides)
(o]
3|
§ 10*4% Depth 1 & ? R1.5
=)
© 123 ; o
q % -
4—M5X0.8 Depth 10
- 40
$313% Depth 3 -
120
Weight .
nit : mm
HPO06-18JA-L 1,030 ont
8—M5X0.8 Depth 8 15

8—M3X0.5 Depth 3
(For finger mounting)

s b7
&1{. 1_‘_ - & i{l

K3

4

57

@.

20
45

13 (Width across flats

(m8) ¢_
40
100
Adjusting 0(14.1) 166
Adjusting 15 (6.6) ' '
When open 82142
When closed 2193 43
273 6—M5X0.8 Depth 7
=2h oy p M5X0.8
_| I [ Air port (Closing)
0 @ © &
0| o
UL I ¥ 5 2
ZANZS] | eof =
25
120 2—M5X0.8
Air port (Opening)
(Both sides)
[ $103% Depth 1
My % ie aime
4—M5X0.8 Depth 10
40
438 Depth 3 0
120




New-FEra.

BDimensions Uinit 3 16
Weight

HP06-18JB-L 1.030g

8—M5X0.8 Depth 8 15

8—M3X0.5 Depth 3
(For finger mounting)
b

90dH

) a =SS & T4
13 (Width across flats) ; =
(M8) —@ & @' 8[53 5
& i JE 5 < e
R ha 4
40
100
Adjusting 0(14.1) 166
Adjusting 15 (6.6) '
When open 8243
When closed 2483 43
278 |
6—M5X0.8 Depth 7 2 M5X0.8
—ﬂ— | [ Air port (Closing)
C o _é_ (Both sides)
P
7 A J|&| 5 -
RN = = =
25 120 M5X0.8

Air port (Opening)

Ea_ 10*§% Depth 1
P e
a /

#314% Depth 3

4—M5X0.8 Depth 10,

Weight

HP06-18JC-L 1.040g Unit : mm

8—M50.8 Depth 8 i5
LA 8—M3X0.5 Depth 3
(For finger mounting)
Adjusting screw %‘ ‘¢' -¢- D/
(Opening) FE o + -
M8X1.25 o| v~
Adjusting screw ‘_é @ i @_ of <o
(Closing) Sk & S AL =
& o o &
40
100
Adjusting 0 (14.1) 166
Adjusting 15 (6.6) When open 82:+43
27-8, When closed 2+92, i 43 ., 6—M5X0.8 Depth 7 iExE
[ T :
S PR | e | = Air port (Closing)
& = ¥ S rod g
™ R ZAINNZ
|25 ] 120 M5X0.8

Air port (Opening)
©
ﬂ. 10"§*Depth 1 % fi’ R1.5
\.‘ Pln
= & e O——0
a1 V] T
4=M5X0.8 Depth 10, A .-
70
3*8% Depth 3 P
120




